Free Knitting Pattern
Lion Brand® LB Collection Superwash Merino

Short Row Scarf
Pattern Number: 80901AD

This scarf curves around your neck to keep it nice and warm. It closes with a button.



Free Knitting Pattern from Lion Brand Yarn
Lion Brand® LB Collection Superwash Merino

Short Row Scarf
Pattern Number: 80901AD

SKILL LEVEL: Intermediate

SIZE: One Size
About 8 x 42 in. (20 x 106.5 cm)

CORRECTIONS: None as of Aug 17, 2009. To check for later updates, click here.

MATERIALS

486-127 Lion Brand LB Collection Superwash Merino: Mahogany
1 Ball (A)

486-141 Lion Brand LB Collection Superwash Merino: Wild Berry
1 Ball (B)

e Lion Brand Knitting Needles- Size 5 [3.75 mm]
Lion Brand Stitch Markers
Large-Eye Blunt Needles (Set of 6)

Additional Materials
One button, 1 in. (25 mm) diameter

GAUGE:

25 sts = 4 in. (10 cm) in Garter st (k every row). BE SURE TO CHECK YOUR GAUGE. When
you match the gauge in a pattern, your project will be the size specified in the pattern and
the materials specified in the pattern will be sufficient. If it takes you less stitches and rows
to make a 4 in. [10 cm] square, try using a smaller size hook or needles; if more stitches
and rows, try a larger size hook or needles.

STITCH EXPLANATION:

Kfb (k in front and back) Knit next st without removing it from left needle, then k through back of
same st — 1 st increased.

NOTES:

1. Scarf is shaped by working short rows: knitting across only some of the sts and leaving
the remaining sts unworked at the end of specific rows.
2. Do not cut yarn between color changes.

SCARF

With A, cast on 34 sts.

Row 1: With B, k20, turn, leave rem 14 sts unworked.

Row 2: With B, k20.

Row 3: With A, k across all sts.

Row 4: With A, k1, kfb, k to end of row — 35 sts at end of row.
Row 5: With B, k30, turn, leave rem 5 sts unworked.

Row 6: With B, k30.

Row 7: With A, k across all sts.

Row 8: With A, k1, kfb, k to end of row — 36 sts at end of row.



Row 9: With B k20, turn, leave rem 16 sts unworked.

Row 10

Row 14

Row 17

Row 21

Row 28

Row 32

Row 35

Row 39

Row 46

Row 50

Row 53

Row 57

Row 64

: With B, k20.
Row 11:
Row 12:
Row 13:
: With B, k15.
Row 15:
Row 16:

With A, k across all sts.
With A, k1, kfb, k to end of row — 37 sts at end of row.
With B k15, turn, leave rem 22 sts unworked.

With A, k across all sts.
With A, k1, kfb, k to end of row — 38 sts at end of row.

: With B k15, turn, leave rem 23 sts unworked.
Row 18:
Row 19:
Row 20:

With B, k15.
With A, k across all sts.
With A, k1, kfb, k to end of row — 39 sts at end of row.

: With B, k20, turn, leave rem 19 sts unworked.
Row 22:
Row 23:
Row 24:
Row 25:
Row 26:
Row 27:

With B, k20.

With A, k across all sts.

With A, k1, kfb, k to end of row — 40 sts at end of row.
With B, k30, turn, leave rem 10 sts unworked.

With B, k30.

With A, k across all sts.

: With A, k1, kfb, k to end of row — 41 sts at end of row.
Row 29:
Row 30:
Row 31:
: With A, k1, kfb, k to end of row — 42 sts at end of row.
Row 33:
Row 34:

With B k20, turn, leave rem 21 sts unworked.
With B, k20.
With A, k across all sts.

With B k15, turn, leave rem 27 sts unworked.
With B, ki15.

: With A, k across all sts.
Row 36:
Row 37:
Row 38:

With A, k1, kfb, k to end of row — 43 sts at end of row.
With B k15, turn, leave rem 28 sts unworked.
With B, k15.

: With A, k across all sts.
Row 40:
Row 41.:
Row 42:
Row 43:
Row 44:
Row 45:
: With B, k30.
Row 47:
Row 48:
Row 49:
: With B, k20.
Row 51:
Row 52:

With A, k1, kfb, k to end of row — 44 sts at end of row.
With B, k20, turn, leave rem 24 sts unworked.

With B, k20.

With A, k across all sts.

With A, k1, kfb, k to end of row — 45 sts at end of row.
With B, k30, turn, leave rem 15 sts unworked.

With A, k across all sts.
With A, k1, kfb, k to end of row — 46 sts at end of row.
With B k20, turn, leave rem 26 sts unworked.

With A, k across all sts.
With A, k1, kfb, k to end of row — 47 sts at end of row.

: With B k15, turn, leave rem 32 sts unworked.
Row 54:
Row 55:
Row 56:

With B, k15.
With A, k across all sts.
With A, k1, kfb, k to end of row — 48 sts at end of row.

: With B k15, turn, leave rem 33 sts unworked.
Row 58:
Row 59:
Row 60:
Row 61:
Row 62:
Row 63:

With B, ki15.

With A, k across all sts.

With A, k1, kfb, k to end of row — 49 sts at end of row.
With B, k20, turn, leave rem 29 sts unworked.

With B, k20.

With A, k across all sts.

: With A, k1, kfb, k to end of row — 50 sts at end of row.
Row 65:
Row 66:

With B, k30, turn, leave rem 20 sts unworked.
With B, k30.

Rows 67 and 68: With A, k across all sts.

Row 69:
Row 70:

With B k20, turn, leave rem 30 sts unworked.
With B, k20.

Rows 71 and 72: With A, k across all sts.

Row 73:
Row 74:

With B k15, turn, leave rem 35 sts unworked.
With B, k15.

Rows 75 and 76: With A, k across all sts.



Row 77: With B k15, turn, leave rem 35 sts unworked.

Row 78: With B, k15.

Rows 79 and 80: With A, k across all sts.

Row 81: With B, k20, turn, leave rem 30 sts unworked.

Row 82: With B, k20.

Rows 83 and 84: With A, k across all sts.

Rows 85-144: Rep Rows 65-84 three times. Place a marker about 1 in. (2.5 cm) in from end of Row 143 for button
placement.

Rows 145-264: Rep Rows 65-84 six times.

Rows 265-270: Rep Rows 65-70.

Rows 271-322: With A, k across all sts.

Rows 323-326: Rep Rows 81-84.

Row 327-466: Rep Rows 65-84 seven times.

Rows 467-470: Rep Rows 65-68.

Row 471 (Buttonhole Row): With B, k6, bind off 4 sts for buttonhole, k10, turn; leave rem 30 sts unworked.
Row 472: With B, k10, cast on 4 sts over bound-off sts, k6.

Rows 473-486: Rep Rows 71-84.

Rows 487-526: Rep Rows 65-84 twice.

Rows 527-529: Rep Rows 65-67.

Row 530: With A, k1, k2tog, k to end of row — 49 sts at end of row.
Row 531: With B k20, turn, leave rem 29 sts unworked.

Row 532: With B, k20.

Row 533: With A, k across all sts.

Row 534: With A, k1, k2tog, k to end of row — 48 sts at end of row.
Row 535: With B k15, turn, leave rem 33 sts unworked.

Row 536: With B, k15.

Row 537: With A, k across all sts.

Row 538: With A, k1, k2tog, k to end of row — 47 sts at end of row.
Row 539: With B k15, turn, leave rem 32 sts unworked.

Row 540: With B, k15.

Row 541: With A, k across all sts.

Row 542: With A, k1, k2tog, k to end of row — 46 sts at end of row.
Row 543: With B, k20, turn, leave rem 26 sts unworked.

Row 544: With B, k20.

Row 545: With A, k across all sts.

Row 546: With A, k1, k2tog, k to end of row — 45 sts at end of row.
Row 547: With B, k30, turn, leave rem 15 sts unworked.

Row 548: With B, k30.

Row 549: With A, k across all sts.

Row 550: With A, k1, k2tog, k to end of row — 44 sts at end of row.
Row 551: With B k20, turn, leave rem 22 sts unworked.

Row 552: With B, k20.

Row 553: With A, k across all sts.

Row 554: With A, k1, k2tog, k to end of row — 43 sts at end of row.
Row 555: With B k15, turn, leave rem 28 sts unworked.

Row 556: With B, k15.

Row 557: With A, k across all sts.

Row 558: With A, k1, k2tog, k to end of row — 42 sts at end of row.
Row 559: With B k15, turn, leave rem 27 sts unworked.

Row 560: With B, k15.

Row 561: With A, k across all sts.

Row 562: With A, k1, k2tog, k to end of row — 41 sts at end of row.
Row 563: With B, k20, turn, leave rem 21 sts unworked.

Row 564: With B, k20.

Row 565: With A, k across all sts.

Row 566: With A, k1, k2tog, k to end of row — 40 sts at end of row.
Row 567: With B, k30, turn, leave rem 10 sts unworked.

Row 568: With B, k30.

Row 569: With A, k across all sts.

Row 570: With A, k1, k2tog, k to end of row — 39 sts at end of row.
Row 571: With B k20, turn, leave rem 19 sts unworked.

Row 572: With B, k20.

Row 573: With A, k across all sts.

Row 574: With A, k1, k2tog, k to end of row — 38 sts at end of row.
Row 575: With B k15, turn, leave rem 23 sts unworked.



Row 576: With B, k15.

Row 577: With A, k across all sts.

Row 578: With A, k1, k2tog, k to end of row — 37 sts at end of row.
Row 579: With B k15, turn, leave rem 22 sts unworked.

Row 580: With B, k15.

Row 581: With A, k across all sts.

Row 582: With A, k1, k2tog, k to end of row — 36 sts at end of row.
Row 583: With B, k20, turn, leave rem 16 sts unworked.

Row 584: With B, k20.

Row 585: With A, k across all sts.

Row 586: With A, k1, k2tog, k to end of row — 35 sts at end of row.
Row 587: With B, k30, turn, leave rem 5 sts unworked.

Row 588: With B, k30.

Row 589: With A, k across all sts.

Row 590: With A, k1, k2tog, k to end of row — 34 sts at end of row.
Row 591: With B, k20, turn; leave rem 14 sts unworked.

Row 592: With B, k20.

Row 593: With A, k across all sts.

Bind off.

FINISHING
Sew button at marker. Weave in ends.

ABBREVIATIONS / REFERENCES
Click for explanation and illustration

k = knit k2tog = knit 2 together
rem = remain(s)(ing) rep = repeat(s)(ing)
st(s) = stitch(es)

Learn to knit instructions:http://learnToKnit.LionBrand.com

Every effort has been made to have the knitting and crochet instructions accurate and complete. We cannot be responsible for variance of individual
knitters and crocheters, human errors, or typographical mistakes.

We want your project to be a success! If you need help with this or any other Lion Brand pattern, e-mail support is
available 7 days per week. Just click here to explain your problem and someone will help you!

For thousands of free patterns, visit our website www.LionBrand.com
To order visit our website www.lionbrand.com or call: (800) 258-YARN (9276) any time!

Copyright ©1998-2009 Lion Brand Yarn Company, all rights reserved. No pattern or other material may be reproduced -- mechanically,
electronically, or by any other means, including photocopying -- without written permission of Lion Brand Yarn Company.



